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Guess Paper – 2009

Class – X

Subject –Science
SECTION- (A)

(Physics & Chemistry)

1. Two wires of equal length, one of copper and other of manganin have the same resistance. Which wire is thicker?                                                                                                     1                 
2. Write IUPAC name of (a) CH3COOCH3 (b) C2H5Cl.                                                     1
3.  A current through a horizontal power line flows in east to west direction. What is the direction of magnetic field at appoint directly below it and at a point directly above it.1
4. Consider the following salt Na2CO3, NH4Cl, CuSO4, and K2SO4. Which of these will give (a) acidic solution (b) neutral solution (c) basic solution?                                                   1                        
5. What determines the rate at which energy is delivered by an electric current?              1
6. Name the two metals which melt at body temperature (370)?                                        1
7. The atomic numbers of the three elements X, Y& Z are 2, 6 &10 respectively. 
        (i) Which two elements belong to the same group? 
        (ii) Which two elements belong to the same period?
          (iii) Valance electron & valancy of Y.                                                                           2                            
8. A convex lens from a real and inverted image of a needle at a distance of 50 cm from the lens. If the image is of the same size as the needle, where is the needle placed in front of the lens? Also, find the power of lens.                                                                                           2                                                                                 
9. Why (i) normal eye not able to see clearly the objects placed closer than 25 cm? (ii) The sky appears dark and black to an astronaut instead of blue?                                                  2          
10. When a green iron salt heated strongly, its colour finally changes to black and odour of burning sulphur is given out. .                                                                                         2
         (a) Name the iron salt.
        (b) Name the type of reaction takes place during the heating of iron salt. 
        (c) Write a chemical equation for reaction involved

11. Give reason for the following:                                                                                                   
      (i) A farmer is adding quick lime to his field. Why he is doing so? What other chemical compound he can add to his field?
     (ii) I t is seen that basic solution also contain H+ (aq) ions, then why they are called basic?
     (iii) What may happen if you touch the leaves of Nettle plant? What is the remedy for such observation?                                                                                                                         3                          

12. (a) A coil of insulated copper wire is connected to a galvanometer. What will happen if a bar magnet is (i) pushed in to the coil (ii) held stationary inside the coil (iii) withdrawn from inside the coil. 
      (b) Why direction of induce current in the coil of AC generator changes after every half    revolution of coil.                                                                                                                 3

13. Write balance chemical equation involved in (a) esters is heated with alkali. (b) Bases react with non metal oxide. (c) Amphoteric oxides act as a base.                                          3               

14. A household uses (i) machine of rating 200W for 5 hour (ii) two fan at rating 80W for 6 hour (iii) 6 bulbs of 18W for 8 hours, each day. Find the electricity bill of one month if cost per unit is Rs.4.0.                                                                                                                 3                                                                                               

15. (i) What do you understand by the term fuse in an electric circuit?  
      (ii) State two properties of a material, which make it suitable for fuse wire.
     (iii)Why fuse wire is always placed in the live wire of an electric circuit?
     (iv)How does fuse wire protect an electric circuit?
      (v)Two fuse wire A &B of the same length are rated 15A and 5 A. which amongst the A & B will be thicker & why?                                                                                                        5                                                                                                                                                                                                      

                                                            Or

(i)A copper has a diameter 0.5 mm and resistivity1.6 x10-8 (m. what will be the length of this wire to make a resistance of 10(. (ii) How much will the resistance change, if the diameter doubled?

16. Samples of four metals A, B, C & D were taken and added to the following solution one by one. The results obtained have been tabulated as follows:                                            5              
	  metal
	Iron(II)sulphate
	Copper (II)sulphate
	Zinc sulphate
	Silver nitrate

	  A

  B

  C

  D
	 No reaction

Displacement

No reaction

No reaction
	Displacement
No reaction

No reaction
	No reaction

No reaction 

No reaction
	Displacement

No reaction


           Use the table above to answer the following questions about metals A, B, C&D: 
(i) Which is the most reactive metal?
(ii) What would you observe when B is added to a solution of Copper (II) sulphate?

(iii) Arrange the metal A, B, C&D in decreasing reactivity.
(iv) Container of which metal can be used to store both zinc sulphate &silver nitrate solution.
(v) Which of the above solution can be easily stored in a container made up of any of these metals?
                                                               Or

          (i) What do you mean by soap& detergent? (ii) Why soap does not give lather easily with   hard water. (iii) Explain the mechanism of cleansing action of soap.                                                  
                                                           SECTION- (B)

                                                               (Biology)
17. What is biodiversity ‘hot spots’? What is the measure of biodiversity?                         1

18. Why testes are located outside the abdominal cavity?                                                    1

19. Name two factors which can be used to find where river water has been contaminated1

20. A student constructed a box type solar cooker. He found that it is not working efficiently. What could this be due to? Give any four possible mistakes in the construction and operation of solar cooker. What maximum temperature can ordinarily be reached inside a solar cooker?                                      2                                                                                                                     
21. What is the functional difference between the four cambers of the heart?                    2
22. Define decomposer. What is the role of decomposer in the ecosystem? Name one of the decomposer.                                                                                                                    2                                                                                                                      

23. Give one role of the following (i) pulmonary vein (ii) lipase (iii) aorta (iv) kidney.     2          

24. What is biodegradable waste? If all the waste we generate is biodegradable, what impact may this have on the environment?                                                                                        2                                                                                      

25. In dogs, the barking trait is dominant over the silent trait and erect ears are dominant over drooping ears. Now, find out
26.  (i) What is expected type phenotypic ratio of the offspring when dogs, both the traits are crossed? 
27. (ii) What are different phenotypes observed? 
28. (iii) What is this type of cross known as?                                                                         3                                                                                                                                        
29. Where the fertilization takes place in female. What happen when egg is not fertilized? What is the name of this process?                                                                                                 3
30.  (i)Draw a labelled diagram of human brain.                                                                   5                                                                     
      (ii) Label it (a) cerebrum (b) cerebellum (c) medulla(d) hypothalamus. 
      (iii) Write the function of (a) cerebrum (b) cerebellum(c) pons (d) midbrain.
                                                               Or 

  (a)What is (i) phototropism & (ii) geotropism? With labelled diagrams describe an activity to show that light and gravity change the direction that plant parts grow in?
  (b) Mention the functions of each of the following plant hormones. (i)Auxin (ii) Abscisic acid.
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